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Example Candidate Responses — Paper 3

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level
Sociology, and to show how different levels of candidates’ performance (high, middle and low) relate to the syllabus
requirements. This document helps teachers to assess the standards required to achieve marks beyond the guidance
of the mark scheme.

In this booklet, candidate responses have been chosen from the June 2024 exam series to exemplify a range of
answers.

For each question, the response is annotated with examiner comments about where and why marks were awarded or
omitted. This is followed by comments on how the answer could be improved. There is also a list of common mistakes
and guidance for candidates for each question.

Please refer to the June 2024 Examiner Report for further details and guidance.

The questions and mark schemes are available on the School Support Hub

9699 June 2024 Question Paper 32

9699 June 2024 Mark Scheme 32

Past exam resources and other teaching and learning resources are available on the School Support Hub



http://www.cambridgeinternational.org/support
http://www.cambridgeinternational.org/support

Example Candidate Responses — Paper 3

How to use this booklet

This booklet goes through the paper one question at a time, showing you the high-, middle- and low level response for
each question. In the left-hand column are the candidate responses, and in the right-hand column are the examiner
comments.

Example Candidate Response — high Examiner comments

One aJau SCrodls. . Mewy._reinmree... e
_Ctni. (5/6/(90%29@ 7 @ e efhnﬂm/w G aThecandidate is awarded

an identification mark for the
R /OW&M -y . WQM pa/m,y ethnocentric curriculum.
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. G SOy, A L g7 reo ke second mark.
/QI\BW/ZMO el Cealier facrin 9 The candidate is awarded an
ok St 7‘@/ O Ny, ﬂ/cw/c 0

Responses are written by real candidates in
exam conditions, demonstrating the types of answers
for each level. These could be used to discuss and
analyse the answers with learners in the classroom to
improve their skills.

Examiner comments explain
where and why marks were
awarded. These help to interpret
the standard of Cambridge
exams to help learners
refine their exam technique.

How the candidate could improve their answer

This answer gained maximum marks. A little time could have been saved by omitting one of the examples of racist
placement in sets. There was no need to provide a named source of material for this question.

This section explains how the candidate
could improve each response. It helps learners to
improve their exam technique.

Common mistakes and guidance for candidates

+ A common mistake is to give more detail on the identified way without explaining how this way reinforces ethnic
stereotypes to gain the second mark.

» ltis not sufficient to say that something in school disadvantages an ethnic minority. To gain a second mark it has to
be stated how this disadvantage reinforces a stereotype,

+ Candidates should be consciously aware that there are This section lists common mistakes as well

carefully to be clear how the second mark is to be gaine| @8 helpful guidance from the examiner. This will
help your learners to avoid these mistakes. You

can use this alongside the relevant Examiner
Report to guide your learners.
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Question 1

Example Candidate Response — high Examiner comments

0ﬁ6 LUa,\z/.. Xhods 0%% Ve 1 e a The candidate is awarded
__@#m/c i /f/ydﬁyp@/ K @ e . @%/’WW/W 0 an identification mark for the
L urtictid Com Ly ch.. WOM ey | | ethnocentric curriculum.
NG JTURILS AL 66&/74 2. JWJ/{VW - 9 History only referring to black
Stk AU 10 h }M‘ﬂ—p@ L@/d"z-’/d”% people as slaves is linked to their
WZW’?@ e blewek @SJW S Slgiser ., q being seen as poor. The candidate

_Ienbadh. Siegotgrc, CF. Htro 2t ooy.. | | Shows understanding of how
schools can reinforce an ethnic

stereotype, gaining the second

/W‘eécﬂflﬁﬁ 6@ Wf ”Q@dm 0 The candidate is awarded

T an identification mark for teacher
th’d“ h §@U 7‘546/@3 Moy place. e perception (could also be for racism

CU/CZN S7uAenb (/J P e WJVC}/%/M@ or racist placement in sets).
e al beq  heely! G pe

L Mﬂ 0 o v o The candidate shows an
gt %Zd/&l [ =2 W 0 understanding of how an ethnic

o _Seecng /M dd leps <l (G/” bo@ stereotype can be reinforced by the
school by placing Asian students in
top sets and reinforcing their image
as nerdy, gaining the second mark.
The candidate could have also been
awarded a mark for the example of
placing black children in low sets
reinforcing image as less able.

Total mark awarded =
4 out of 4

How the candidate could improve their answer

This answer gained maximum marks. A little time could have been saved by omitting one of the examples of racist
placement in sets. There was no need to provide a named source of material for this question.
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Example Candidate Response — middle Examiner comments

0

ﬂJuc,L wmms wki// MCJO an identification mark for the

ﬂ% JW& ethnocentric curriculum.

JL Jaa!( ‘?ﬂ‘z frsisupn "[,{' o e The reference to this not

favouring the ethnic minority does
not show understanding of how this
reinforces ethnic stereotypes, so no
“—1 | second mark is awarded.

,‘ﬂw ﬂz@ vf\&a i vee Gﬁ‘m W 0 The candidate is awarded
e m&U Jn

]lz% ﬂﬂ/ d%lbw 'mlnd%ﬂ)’?ﬁ VY ﬁ% o
/45 Esae Ja.j e Pl o e dehools o The candidate is awarded an
ﬂw w7 cﬁﬂb W identification mark for lack of role

& ﬂ\mma

% L] ?d %@ W/m te Wﬁ, dwg w% j | | @ The reference tothe

percentage of working-class
teachers in schools does not
show understanding of how a
lack of role models reinforces
ethnic stereotypes, so no second
mark is awarded. Evidence of

the percentage of ethnic minority
teachers would not have gained a
second mark either.

Total mark awarded =
2 out of 4

How the candidate could improve their answer

» An example could have been given of how an ethnic minority is portrayed in the curriculum to show that it could
reinforce a stereotype, such as particular occupations, cultural activities, criminality or absence from positions of
power or historical significance.

+ It could have been explained how lack of role models of a particular ethnicity in school may give the impression
that members of that ethnic minority cannot expect to gain educational success or positions of influence.
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Example Candidate Response — low

| Fere—Fe —]’\( 6C'noo Ls Baalel ay fen F?:rn eH'm"a
,5‘:cr(6 l:\if)es A>b duc ..... J(,o the labc“
Hr\e Leachers - Rk Argues.. U‘\OLL

la e\l mom skuc\enb lch\c N

EL\GLY‘

7:.w|H CL touo cluc \?o H’\L unnccegarkj

of @
Yoo &

eﬁjuca,[::dh as. H'\cx v el \F con P. CE:C( ee

labelt hy

Can.. qfhrdj
8004 e hsk [:uk

parenls

toa

%o sem:\ H\csfu:aré

- ’135 SCCOY\A ouox_y M Malu J OP noacfﬂ
.c’,A wcql:tonql s L eqﬁ. por “‘\ L\ )'M Y _
lelass chi \Jrans onl«. as l—kp P{{ o f hos(
._,,Sckoo\ e yer H ar\ hoL eviry,

Examiner comments

“ The candidate is awarded an
identification mark for labelling.

e The candidate has not
explained what ethnic stereotype
might be reinforced by labelling. It is
too vague to say that labelling can
lead to reduced self-confidence.

o The candidate makes a point
about inequalities of opportunity,
not the reinforcement of ethnic
stereotypes. No marks are awarded
here.

Total mark awarded =
1 out of 4

How the candidate could improve their answer

» |t could have been explained that if an ethnic group had a stereotype of being less able, then if teachers also
labelled them as such they may lose self-confidence and actually perform less well, reinforcing the stereotype.

* An acceptable identification point could have been made by referring to any tendency to exclude ethnic groups
from certain kinds of schools or from higher streams or bands. A second mark could have been gained by
explaining how this could reduce their opportunity for success and thus reinforce a stereotype of being less

capable.

Common mistakes and guidance for candidates

+ A common mistake is to give more detail on the identified way without explaining how this way reinforces ethnic

stereotypes to gain the second mark.

« ltis not sufficient to say that something in school disadvantages an ethnic minority. To gain a second mark it has to

be stated how this disadvantage reinforces a stereotype.

» Candidates should be consciously aware that there are 2 marks to be gained for each point and read the question

carefully to be clear how the second mark is to be gained.

» Acouple of sentences for each point should be enough to gain full marks.
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Question 2

Example Candidate Response — high Examiner comments

Dmu% (0 which Shhool. rg f@n ehhwic. gb(az\c&@:s% 0The candidate gives the reason
0O

%‘f\ fe Lodoel(\ €§‘M\\C mdneciics. sudky that the lack of cultural knowledge

Pack foo rno&od\ T s, o dww.__.%m shown in language use affects

m@ o c\,_.m\\\‘s,,. Sh@@ lada, e ey | educational attainment. This gains
1 mark.

sl ercpoe 3 delecd arkiien an AT M&\fem\@\
Ao safoollve, g (eh@xce_ %\cr@mm/)

o The candidate explains
the school being based on the

' ) k\m ; b s @ elaborated code. This gains a
] QW R S W}X oM SS A ’sccudw S dmxm\% cocond mark.
Q@&A\x.\é& _fociald, O&(m{vo N VNI %@X@@ edone

o |efeceu@es, . fern. ol daden. - _ausing Cﬂ(\mm cthw?c LN e The candidate references
o Loedec, e St %ﬂ% ace o Bernstein as the source of this
b &cﬁigj 3 K % %}W material. This gains a third mark.
- - - The candidate shows material
S e YN \\\3 \\m( o doeel CQ\?M frucdicw relevant to the question by
S%MM \Wﬂ- clons _sudends explaining how the school is built on
e Ik ot ) ‘e\ % et \M\ m\mi middle class culture, thus causing

class differences in educational

km&eﬁ\%ﬁge,m/@a ..o X N '\fe(.% %gﬁ‘c # attainment. This emphasises the

Lenod . _eMaia orarh, o such o ok significance of cultural capital rather
than cultural deprivation. This gains

the fourth mark.

loa Selale Q& feraage- c@cl% oo udhich
Sool iy bowed oo . sueh M\N\Q& aSedmeny | e The second reason at first

e O M - ’YLL gg‘nani bt anl o appears to be about parental

c@&w& Ao M&&\L%M and seu \Qg@\/l o o attitudes. This would not be credited

T | o&q M d\ (erd as an aspect of cultural capital.
Q{geu\r_em e m@_)\w(\o& ALY RIS k&e oy, Parents could be very keen on

. their children’s educational success
) pww w% e m\\c,q,\ o &adc c& MQ&M&LL(X&)\M@ without having the appropriate

e e educortonol alicomend k. ﬂ\ic»u@‘n cultural capital.

____________ gmm’v _ollifudien . Madte  SEine. lows tuaiooly e @ The credited point is that lower

oo lusgaly @ ngagraln. Fhiic_huddis. educodony... class parents are unable to be

WW&QW&FQM ,@mex,,\:b, v onoliete olo highly engaged in their children’s
RT3 - M@@?m&%@)& \a’i\r\w@m% education.

Vwi?*\(\arhge,\m‘%%leg@ﬁ%d{\)@e parents being put off and unable

to communicate with teachers and
how they present themselves, and
the effect of this on their children.
This gains the second mark.

The candidate references
Tizard for this material. This gains
the third mark.
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Example Candidate Response — high, continued Examiner comments

eo]eonsoaeiOs L beser uedie it Mhed ous %%B@ﬂw
e Sevove \36 N @m(‘e-n;\ —ao. \svustan - claddeen s,
o lonn. "L\A% ey Lodse  bo cbe. &3 adowle ok culbucsf ool @ eThe candidate links the material

ed {\&/p r@\&  teonege., B ALy L ensec (NQM}@ back to the question by explaining

. ' UM!Q that lack of cultural knowledge has

affected educational attainment,
also suggesting a link between
cultural knowledge, parentocracy
and class. This gains the fourth
mark.

Total mark awarded =
8 out of 8

How the candidate could improve their answer

» With careful reading, this answer gained full marks. If each reason began with the positive effect of cultural capital
on educational attainment, it would have made it clearer from the start that the candidate was not confusing cultural
capital with cultural deprivation theory.

* In the second point the reference to parental attitudes was confusing as it was the barriers in communication and
being put off by the school due to lack of cultural capital that was relevant and was rewarded.

10
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Example Candidate Response — middle Examiner comments

| Bonmdion  ald ok MWM{){MM% 0ok irpoudeamdt |
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wny Aotk B

0 The candidate gives a reason
referring to socialisation, including
the elaborated code and visits to
zoos. This gains 1 mark, but there
is no explanation of how this can
affect educational attainment.

e The candidate references
Bourdieu as supporting this view,
gaining a second mark for material.
There is no further explanation of
how Bourdieu’s work supports this
reason, so the remaining marks
for this part of the question are not
awarded.

o The candidate gives another
reason referring to understanding
the teachers’ cultural references.
There is a repeated reference to
language, but as neither reason
particularly focuses on language
this does not prevent a mark being
given for this point.

o The candidate explains the
relevance to attainment by the
feeling of alienation leading to lower
motivation, gaining a second mark.

e The candidate uses the
concept of habitus, gaining a third
mark.

o The alignment of habitus for
the middle class with the school
is linked to why cultural capital
can affect educational attainment,
gaining the fourth mark.

Total mark awarded =
6 out of 8

How the candidate could improve their answer

» The first reason could have gained all 4 marks by fully developing how the impact of the school using the
elaborated code affected learning directly or through labelling. Alternatively it could have been developed by
exploring the impact of cultural experiences in socialisation on understanding and performance in a range of

subjects at school.

+ It would have avoided any possible confusion if the second reason had focussed on habitus without reference to
language, as the elaborated code had already been used in support of the first reason.

11
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Example Candidate Response — low
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Examiner comments

0 The point about marketisation
making cultural capital relevant

in the selection process could
potentially have gained credit if it
had been more clearly expressed.
As it stands it is too muddled up
with financial capital and too vague.
The point about selection will be
credited where it is better expressed
in relation to bands and streams.

e The candidate gives a reason
that cultural capital affects selection
for higher bands and streams. This
gains the first mark.

o The candidate further explains
the impact by the demotivation of
those put in lower streams. This
gains a second mark.

o The candidate is awarded a
third mark for the use of the concept
of the self-fulfilling prophecy.

e The candidate does not gain
any further marks as neither the
working-class lack of interest in
education nor health issues are
relevant to the question. A second
reason why cultural capital can
affect educational attainment is not
given.

Total mark awarded =
3outof8

How the candidate could improve their answer

» The impact of labelling and streaming on attainment could have been briefly developed with some interactionist

material to gain the fourth mark.

* |t was vital to check whether all the instructions in the question had been followed. Two reasons are clearly asked
for, so only giving one would cost the candidate half the available marks.

+ Showing the importance of cultural capital in marketisation, explaining the benefits to schools, league tables, etc.
of selecting those with cultural capital and the resultant benefit in attainment to those favoured would have been

credited as a good reason if clearly expressed.

Common mistakes and guidance for candidates

» ltis common to confuse cultural capital with cultural deprivation or with economic or social capital.
» Some candidates accurately explained what cultural capital is or gave appropriate examples of it but did not go on

to explain how it can affect educational attainment.

+ ltis important to remember that the third and fourth mark for each reason can only be gained if sociological

material is used.

12
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Question 3

Example Candidate Response — high 1 Examiner comments
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0 The candidate based their first
argument on the feminisation of
education.

o This is first developed by
explaining how coursework suits
girls.

o The candidate shows
knowledge of the increase in
coursework from 1988 and Sewell’s
study of its effects.

How it suits girls in terms of
presentation skills and keeping to
deadlines is explained.

e The candidate develops further
with reference to female role
models in schools.

e The candidate explains the
impact of these on female career
choices.

0 The argument concludes with
reference to Wehr and the removal
of sexist stereotypes and its impact
on attainment for girls. Overall,
there is enough relevant material
and development to achieve the top
of Level 3.

e The second argument is based
on teachers’ perceptions of girls and
boys.

13
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Example Candidate Response — high 1, continued = Examiner comments

Joaed ab, 41»; A e adars Howerdl w,,,‘ o

e The candidate applied material
from Becker on the ideal pupil,

sel offv\.tf,% V,Fk&,jw Wi s covidatly | | labelling and the seif-fulfiling
v AT j&m AKX gal-wh»»a ot b T'Z{ww\ . prophecy.
= apW 1 wit e j’ ’j“‘! ‘t' e Lives - ;ﬂ%u’“ @ The candidate applied
|hos  Geted A eplaq Ao 4ol f‘\?u 'w:pe McRobbie’s concept of bedroom
b g e on ) wier .. culture to explain girls’ advantages
ﬁL I g “-T‘ -{ e in teachers’ eyes.

e ey - Ata - jm,g Lo Ay te Jraua 5

el % ,,.._J 5] Ermag I qu I "ﬁe,J-lf‘v] @}

it S 7(\ Gﬁ,\.‘u \,,Q.\NL N e R l&o:A e

ovrb\om, ﬂua) ojm.ﬂo,\ s Taas o litendron .

wwn’rm“j g gichs = seneline b fe. it _
7 j’ J“Us"" b ol &Mw PN TES m mThe encouragemgnt of girls,

sometimes to the detriment of boys,
links back to the question. There is
enough material and development
to achieve the top of Level 3.

Total mark awarded =
12 out of 12

How the candidate could improve their answer

» This answer gained full marks, but it was not the only way it could have done so. An aspect of feminisation such as
method of assessment, female role models or removal of stereotyping could have been presented as an argument
in itself in greater depth. This answer had enough explanation of each point to be counted as developed, but there
was a danger of an answer being too much a list of undeveloped points which could risk a lower mark.

» To ensure the response was seen clearly as answering the question asked, it was safer to refer more directly to the
wording of the question, e.g. to say ‘The feminisation of education shows that the system no longer advantages
males’.

14
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Example Candidate Response — high 2 Examiner comments
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“ The candidate’s first argument
refers to the feminisation of
education.

e The candidate relates this to
feminism and wider social changes
as more women have gained
positions in educational institutions.

Having more female teachers is
an advantage for girls.

o The candidate develops the
point in relation to the comparative
lack of role models for boys to relate
to and their lower performance in
GCSEs.

Coursework has also been
increased which is an advantage for
girls.

e The candidate explains how
this advantages girls, though
somewhat weakly.
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Example Candidate Responses — Paper 3

Example Candidate Response — high 2, continued Examiner comments

an. athett | pextes  leuR oD xael | A o o The candidate's suggestion that
| @thw,m\d ML, €O - coursework helps girls do better in
o exams does not quite make sense,
but it is reasonable to assume that

|Anetha Aearop e "‘i"’“m@na‘j@ tem. e the candidate meant ‘helps girls get

Rl edvordage the modes WA ke  duw better exam results’ rather than the

) To (teve sty pes o olo‘(_g and. \otsms o e _ inaccurate view that they are better
at timed exams than coursework

_|sthetA- ,_Mxxlarm»\ ffk oo . Ama, feach@s +chd .
o puplh Roked Loo_»ts et
and agtention SQQFE&S ) wm,?,,med *Z-E) o\\j,Lg

compared to boys. Overall, there is
enough development in this answer
to get into Level 3, but not to the top

. MG\@%}QW WS‘ m‘ - U’—O‘M +° sf@“u”@s‘ e The second argument refers to
lheqanively ff—e thing ooyt 28 ey vwoswd teachers’ stereotypes of boys and
aedthey nrfaev\a B &S C’\FQ"W oo, ﬂSQ girls.

. 20 e e The candidate explains
...... : otedge. Thes ‘-( disadvantages to boys in terms

of them being seen as discipline
problems, whereas girls are seen as
worth helping with their work.

A V\e( mooe _deieus a»\d@
e Wy‘ l’“{ ""\97 Mo Geexuatiy O‘Xbc"% Q'd wearn | @ The candidate explains
50 oY e W0 ol W Y oy Aae el Moze the process of the self-

1w ‘WMP €nol oan e ek‘j EAR Cthd cooges, | fulfilling prophecy and boys'’
cnres  whmen - has lids O Cusis (11} underachievement.
L _en b, *Wbﬁwmb dou ety

0 The candidate’s point about the
crisis of masculinity is not used well
here in relation to the question as its
consequences within the education
system are not explored. Overall,

a clear argument about teacher
labelling is presented, but it lacks
material from relevant studies and is
not quite developed enough for the
top level.

Total mark awarded =
9 out of 12

How the candidate could improve their answer

» For the first argument there could have been more development of any aspect of the feminisation of the school,
whether of the different ways in which the gender of staff affects learning, changing teaching methods or subject
choices.

» For the second argument there could have been reference to studies of classroom interaction which show
the impact of gender stereotypes or further exploration of how the wider cultural or subcultural perceptions of
masculinity affect what happens in schools.
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Jeachers, o lock oo e and |o@ oncthuated] o wook Pnrdene no funhgr explanation or material to

,,,,,,,, 1o e 190, women where _uviewed as. Sy kome. wifls | | than males.
_____ ond _men had higher_ceevpations. e ¥

Example Candidate Responses — Paper 3

Example Candidate Response — low Examiner comments

n .
o] IO Q. a"mr ex-ien‘l' '““‘2 eAUQq“Oﬂ %Siem O\du& T 0 The first argument is simply
ma‘ee howeve 0 -pemlmsks sstode et cven dhe neors stated — girls have more female
e m\ c:‘m\dreﬂ ONe.. \oecom\@ (YOLe. oo\oonf‘r%e ’W'qn teachers to look up to. The
m'asand Ahis s bemuwee  fooles aom. have ,Qamlec candidate gains 1 mark, but there is

support it so no further marks can

,,,,,, Hhon dhe_ooles - | | be awarded.

ok coedroles moles ond. decxrr\qges role |
"""" POCChy. P O{m‘ o - e The second argument is that
...... Yoweper } _is__avedy. elecmipishic : 1 | girls are motivated to work harder

- fan the

Hemalas oot recentyy Necently in dre (A6, Se Srarpe .
noticed thoit womea whece rom. yvove iee invalved in

.V-}ak[n@ on dheir Carders _and olcﬁon@)dobsfke the

:..,.__,\oe ndependent  act por&eﬁ\r@ e _copmnpoign foe dhe equol
Py mlmch he\ped »Pema\es express_themeelues 1o ol moch

_{better vocg ,,,,,,,,,

- CQ“UW‘@” S‘M&S ”(h‘alx Sdﬂdﬁ leoe{it. 8‘“‘0 kecousea{the 9 The candidate supports this
idechae 0 tre_hespmanic. mascubatiny atnd Froncis «skles | by evidence of wider changes in
dtthat G\OLQ‘ oD L\QQQ higher caneer. osp\rdhm@ onlike 0tre society, the decline in hegemonic

Fp@ when 8‘”‘5 looked vpre. e l"‘mP‘i\) Jobs, '“”Q*j 0 self-confidence. This provides some

& COmﬁam% and raticos - L on the school system, so does not

faricnsts. Olso Ineld_campaigns st qg;&;t” coen
_|mocaga@s which mabvated e fereles to do keetter and.

masculinity and girls’ increased

_|now_ vlve themselues and. alse -waat Yo loe res.e\e explanation, but there is little focus

reach the top of Level 2.

Total mark awarded =
4 out of 12

How the candidate could improve their answer

The first argument could have been developed with evidence of female dominance in the teaching profession and
discussion of the impact of same-gender role models on motivation, classroom interaction, etc.

The second argument could have been developed with evidence of girls’ success in education and discussion of
how schools have encouraged girls’ achievements relative to boys, or how changing male roles in society have
impacted boys’ experience of school.

Common mistakes and guidance for candidates

Many candidates focused on changes for women in the wider society and girls’ career aspirations, especially citing
Sue Sharpe’s studies, but did not relate this to how education systems may no longer advantage males.

It is always helpful to use the wording of the question in presenting each argument to ensure the focus is made
relevant, e.g. ‘The limited number of male primary teachers shows that the education system does not always
advantage males. Rather the girls gain advantage from female role models in school by..." or ‘Males used to gain
advantage in the education system by being encouraged into high status subjects and careers. However, with
GIST and other policies to encourage equality for girls this is no longer the case...
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Example Candidate Responses — Paper 3

Question 4

Example Candidate Response — high Examiner comments

. P R N v T Vi Yt |
P v E\w\chun mf a\McM\a“ Tsto alscabe indivingd
e appvo. priade yoles, N4 aview haomak bv fnctionalivy
] e e mwm social gomacvates. Ml“ °Th didate makes it o
KA branins & Shelotog support s views, | | @) The candidate makes it ear
| Duwidatim see. .m,..!l:,\&.‘,,o(—_,_;,.LO\M._.CO\.E\om.t,,,_‘_\’._u____.,.‘,;_.ﬁ.ﬂ(-..!{\._ . directly related to the question
_lindividnadis Xlamr a(gvofviode vole n sociekyu amd how asked.

Hocomfove Yo ik Xhwowal s.ancrions omd ve wos-As. But
| Powsoms talces Yws o :‘Lf fowowd b *—wH“\_MTJJVj
1ALl egmacaXion Sevves Yo allocatbe wus

i Avigwg Sl Yo occu{a\\\ons Yal ot M&é;_o\grvothk
e lovel of still - Theschool o es Y bu reuoc»w\\vj
...... s¥wohunis wilha WF Ceationy b ased W\‘Umur -
~lQevkovmanme in stamdovdized asseswmants. Pawty
e Moowe m\So A oy\c s view owt Sr»; :1‘&

i \V\D\ vy danodny

Cindae m fo\e A soc‘e@ o owne
ihosy suvied Lo Comeak lon vaokes Suwe W\A" \’No This as a very well written
| ovan ke ot Suuncdi o, o wastable avme summary of the contributions of
;\\c\o Durkheim, Parsons and Davis and
é)ij(& \’W— wos ¥ QMCHWW\“ v} ”\"W ok MJ‘ \30 » Moore to the debate, but these
M. o ciek —~ - points are made briefly, so their
- Cownse W’(\ .S, ocw\\ (Mmacvmjcs o«\s o.5ee HA.e arguments are not fully explained or
| Eanckion of eameation Yo alocate tadvidmals | | supported.

ke Masiv _wggvo pyiate voles so YAl e csnowmy preqress

it ee. Yas bwackion. w\}«J peing mek (¥ the |
weo\%wv\s s ¥ bon operakes D

A a2 196.5 HaL L conepre ansine. SC(Mu\\
) \’e/vv\ WRS.. \wfvoo\Mcd N\\M) OAn 0. wrta e kv cowr
%ﬁ Stewnn _w m Vesw \M\V\A\NM’Y ar st Yalend os
Al exetied poayicin _las s Ml dran ‘M\W;.m“ow%

P e A well developed explanation of

! the Social Democratic perspective,

D fb"‘kM\‘\\u s wneel Yhamv ‘,0»( ent al (_(bw\w] supported with specific policies. The
' evaluative tone also gains some
,’fo Flotun, o conpreln sive schaolj v\3 \3,»\’% will_alles credit towards AO3.

bv,.__gw,_ogcp cdanilie ivt Mixte X 5*4‘0\\&»} cLadSioem

18



Example Candidate Responses — Paper 3

Example Candidate Response - high, continued Examiner comments

Lwne e ondiy A ML e mentiating factor
s eduan catonal | adbonumant. To Sw i ehswmne
1l Ktus Lwnckion i3 b eing waok , Hoag also nflumnced
i wkvadmackion . of conp enstax 64 p¥ag ey Lilee
| Edmcation hctlon Zones (€52 0OA suome shawd ) which
Jravie 4o Aacreane. ineqpatikies vesulkingfuom s
M pmences . Hence thasocial dompocratic view .
~pup por 3. o wovles o maointain the edun catinaf.

| Bunction of allocati e Whivideads o D\WVO(H ate voles
e Q—,a@a,Llw o i kidn, fle now vy (jv\\" alse Sup. @o_v_’ri _’
s viewd . Chubb and Mot € veait Eswapetilion
|ereated 4o classvosms Yhat alow s Shwdonts Yo
oSwhow are. Mawie Ewll potvenial omd allow for Fhsw
"D\I\MI\UL allacated 4o ccu v,,O\::";'\O,ﬂ,,,S b st £11 for Thewm
_IMowkeli sadton. policies. in Froom ced wodkty tae 14 Y8
_eAr cation: wefovua act lon o perved fo wuuw’mmé
s Gonepe ki ,.’s..,]_.ey\,,;.,fpmmj keuwuu?wwxjw ne
_jopan encol emment so ¥at yhe best ome Koendified
pandh_appcapviake coles oxe dll acqledto Fhom
o P tovwave the wse o€ LR tests g I sup porl

fhe view fnat educativa 15 o wmachomism fyo
g pvoprade allscation of tidividmals . Eysenclc ighty
_Jonguen The flasne et s one objectine medsure
| okt c\\\%m%we\ Sasaadsvs also agques bl
- (S ing t e X Alhase puly veve 4| ivagte abilifiy
ot e sy wdents o co oJLQ«bM\N) Yran to).
N s cated 4o _ap propriAte ve sowrcas bAbedn
Cauie ur e\h?@n“ N e
L Now emer ,‘V\W Y184 soct o lngrsldS. 5'.\'.,\(0!\%,,\ 1 .,Q“.Sé\jr.e_
lelh el tiews  as A cording Yo Yz A7 B

lwles taat skadents At allscat e Mo ane |
e *o\( oV iad ey vateha A Yo thaar allik ,\3% o

Roothar, o iSYs Llce . Bowles gund\ Clinids see

v

0 The candidate presents
material explicitly linked back to the
question asked.

o The candidate gains credit for
application of New Right ideas to
the argument, but their relevance is
not very clearly explained.

e The candidate also gains credit
by the reference to 1Q testing and
Saunders, but the mechanisms
through which this links to role
allocation, e.g. 11+ or streaming are
not explored.

o The candidate’s evaluation
begins with a clear reference

to the wording of the question,
and specifically how a Marxist
perspective challenges the view
presented.
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Example Candidate Responses — Paper 3

Example Candidate Response - high, continued Examiner comments

Y cpmcakion susteni s \eﬂe’wm 24 o Y alv zo\ij

K ,Q.1.&5..%&&39.@‘\,0&1,,;9v - AT Bt s Lowacakio

Sl vevooady %M%g, ku\;/\/\ocw\‘e svina bouk ot Ylhest oo

M ek Sivite - Fea ConSorma bo c.aw(i‘?rby.w,\. Xo M‘d\d(e :
Jelos 5 valumls Yo sueceed wimMtals. also not |

eemted os lwighsa o dmeation i3 wwact i :

. Ma&\\v\-—e— bo Yorupper classes. o\\’\'ouvxk-co\Ma:;bj

: R 5 sndes ounadh Clintis ¢ ot educatp, e The candidate relates Bowles
las. h wﬂ'\’(hw) Mo\ allo crA‘\'\"\P\ salable voles Yo 0 ,,,,,, and Gintis to the question in a
LY wp pen o i odMe class. nuanced way — appropriate role
. Rt fhown o machanism Sov a\\ aco&\ on ,"‘ Mn\h i:g’scsa.t'on only occurs for the middle

.[See Mhae—edmcativn. asa Sorm ol Soaal tontel wifh e

\ s Cwnction  ve V\j quOo\JMi exysh N’S ineqpn ahdies @ The evaluation now focusses
on the alternative view of education

. \3 )vw'\ \Q\)‘\,\,) A SN RO, V(- ST \ijt \’NJ _
fywsi b Ak class oand .congeaqmen i A as a means of social control,
> < VS j “4 supported by Althusser and lllich.

...... ok\shwbt\’\ﬁw : B e dncalion o
Pow‘\ of X \M\yj\u\ﬂ, 5\"0\\'6 D«(fv atas w\Mc\n
| sebaro socialrze A Studomis (wko Vu\hv\) c\ags .
\&;b\ 034 ey omn A Leady Xown to Aol

| S CLass. € o SCIDUAWNANA S\\w\w\j wih
e ond _Fine cen- scndo) s oA vegv%;w&
liashiiabion s XaY . vesmowd co’\\’om ety Yo AN
PEACNYIR7IEN ? A3 S V\\\) O A O c\‘} PN
oy en OQ W w\m*\v\] > ass i \A Y one Covex
BRTSEN S R\ s 00wl Ve Y oy cass |
Jownd B\ el i by shadents  ome vr i m)\j
wabsd Yowando  voc Wt ion o\k opeahificatvng |

[20bs Bopram 58S § W o\d  awe inhena “j

Poased o WA Al -habitas of fhe w2
| oaadN i J\,M Telals s by A \,So\ok}rou/ﬂ’%l')
,,,,, v»,o,u,,\,,c,,(,\ss cleass Mlguen w lvo _cdne dt o,uz\,{z,,eso,\m?mby

L oefore. enter lV‘] st hoslos avesylbol

=

A
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Example Candidate Responses — Paper 3

Example Candidate Response - high, continued Examiner comments

| theav Vack of adhue capital . Talune in
|eroumainations owadh s €5 - elimivakion_at dke 'NNMD
ot ’Y(Mz,wu\,\cch\a\ss isseenas q,W\uas waghe

\j Yine -t indv donadh . owad\ \/\5\»/\(& lus‘ﬂC\j\@ fwf
IS0 eial ? asakiona s LB, NA\&A sees XMs_as. @ @ Evaluation continues with a
leaw vesSonal\e resy esPonBR a0 W sets Ylae well-informed discussion of barriers
v | to working-class opportunity, using
- Wc q\—tm Fy fenn Lolsnand! Wt Yl ink everss Riseborough, Bourdieu and Ball.
S \Mw\c\ clays.es NQ/WLV N\ess,,,,\'\ e sees Yhog

kesp. ov‘ses o8 Covx‘\v\bu%\vx? Yo. \e ANz e Yo
. Q,As birg sociql svpor. Ballled 0\1 onte Yoot

te. W\\d\o\h, c\ay? anents ,fo;feﬁs.._ju o
,\/,\_fﬁ apitalls in e vight covwemoy whidh
Qv\o\\o\e’f oma. Yo Whale Yo Lost cWicesfor
Lreedv cwldunem s Yooy how ot social connedisgy
LYo cet wnXo Kho bob schdols onmod dhe
ey 4o faclitate Prepen edme At tonalie. |
1 fomeon oS alls c4bian - asinies
M i v onh e o 0\\t\~\ ¢ s 50 0 This is related back to the

e miah ex i?/" et o o'l wobiliky question by linking the appropriate
NWM e fead for wmpst ’FMf"m A allocation of roles in society to

ov" M* occupadion s owe dafined by saciddl (\osuve a requirement for working-class
mobility, referencing Breen and

6) W 2dM akon  wiasch wost ,v»,a,v.\c.iv_,j.c.[é\sx, ] :
social closure.

s ’rv\An«v\’Y _comdof attadn dne Yo magtemal |
- ou?v waton . kg Ve s ok e _— Mark for AO1 = 9 out of 10
\y_\ (ahtku_g\ov\ %ch"yldw C_JMo . Qo,.,\,r—w\:vd‘c Mark for AO2 = 5 out of 6
For Sat "el’:f Mark for AO3 =9 out of 10

Total mark awarded =
23 out of 26

How the candidate could improve their answer

» This response achieved the top band for all the AOs but did not quite achieve full marks.

+ For AO1, the presentation of theories of role allocation was a little thin and could have been boosted with reference
to meritocracy, universalistic criteria, etc. as well as some discussion of gender equality policies.

+ For AO2, the application of New Right ideas and Saunders as well as the use of Bowles and Gintis in the
evaluation section could have been clearer.

» For AO3, there is scope for discussion of gender and ethnicity barriers to appropriate role allocation as well as
exploring other functions of education, e.g. social cohesion.
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Example Candidate Responses — Paper 3

Example Candidate Response — middle Examiner comments

J
] Serven A~ rpmf:ew.— ;vb/ sfw 2 c..or.,!cfsnz,,i,d c The candidate does not use the
I Y Jp(j LM.-_.J p.g,{ AW 7E .8 o _soe ke exact wording of the question but

addresses the belief that education
'ﬁgfl Lo - SieTy h Fosns % o \"&C”J{’\M | | prepares people for the workforce.

bt dndihe ’!‘\‘“’5) et M ol M’W'h‘w’ Although there is some overlap in
|ttt —lvjoz‘bf A bu'? ‘f””‘""“") et @ﬁ.ud meaning, there is a danger of losing
;,,\M/(;h e AT ean JL:M)’ oAy tsr:)emfzcmu:rks by slightly changing

SOMJ,souAﬁn%\j, ij fud <eluckom,

et \w,.j ANy BIPON P < N I N

....... |l dreamn A e ’\'\u,.,‘ \AL-JVmC. N SeGeF e

- Mg(/ M /{b .,L, WJ e dv %%’ e This paragraph on Durkheim

ke 1’e'>]°°c[~'\"” i .. e 71 | combines the juxtaposition of
”"j M(”‘“‘A 'JI&"-‘J@ OV VWA S &L*/ -~ | the function of maintaining social

b e wihe s nendess JF R T solidarity with a link to preparing
| b~ I ‘b'ﬂcfh«/ o setrul seld JA»:’C‘:, children for their future roles. The

place of these points in the overall
debate could have been made
clearer.
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Example Candidate Responses — Paper 3

Example Candidate Response — middle, continued Examiner comments

Sone \ Y DAY A AR e St A
At \______& N Ravavasy. ol s\.jox‘\—q LYY, A

..... —Lm,,-f, Ay

Vlines wY\b
| ntae ‘meﬂ/l umuwwwiﬂ-

’(?»Jf'j fbwnHA we o enlonis. g_./( o wovb

ww h«‘:\\.\/ 4@;\ mn @WLJ SL\l»\/s

]l X h?bu&,

et . l‘-’> wa ............... UL S . [N S YY (PP

WMMM ................ Re g &M\“ N
LD o —-gv ﬂ(gﬂ U PR | Y Y

i by mm

?e. pod A f"i,,J g%.;:

Ao ot ,f.h)cw>m e

NN YTVSP DNRER - A W' @

‘D%f——u{ SR~ S VA EVIVN SN W /RS S

ewsr Noan_. ?—M\v\« Neur
. V"AL/ \&5_\\ (,“é‘\* DO‘J\» .)-A

o The candidate clearly applies

o The candidate clearly explains
Parsons’ theory, though somewhat
implicitly in relation to the question.

Davis and Moore’s ideas.
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Example Candidate Responses — Paper 3

Example Candidate Response — middle, continued Examiner comments

LR ernsm ST IR, w\-w:\— o Wi O el e e This evaluation point, though a
N s.u):ﬁe/c‘ﬁ\&_ G “«Y u:bu_,l valid criticism of Davis and Moore,
does not really bear on this debate.

«\\\j‘ Y~V b\,_\m&\q)—\j VPSRN ubee b .

rﬂwwtsﬂ_ {M\L..a‘\\—*__; P-ej\u\}- M_ 1\ &,

:;* J% . N A ! )p'vj 6 G The main evaluation argument
%‘M el S "'E“\'/‘ St is clearly stated in terms of the

Lw.%uw «-Dd’m:\) i TORE Marxist rejection of the functionalist
Wi AN o .,q; Tebey dagd view.

t,l_f- A .__Jﬂ Wf'bj

WLA»:«., ........ f[w ............... J{@ a@- )\A..»\_J;— 3@.
RIS YU JC"'\ (IR WV 7 = g k\\\\a ’b«.f ’\».u

0 This is accurately developed
referencing Althusser and Bowles

STy Vi SN e e
,{\M‘“‘ """" 9 O -+ hetunar an. ;M_wg\/k YAS e
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Example Candidate Responses — Paper 3

Example Candidate Response — middle, continued Examiner comments

fffomsmrm, . LA D e bone S /
e muA o e _»F subewd e~ —\.d °(—° NJ"@
.n..(,dvv‘{o'm o Saddn A_..,-\ C/W\LL' )

; lv\ L—LMUL’-\\»/? LLM B L«a
:'(\)AA\\V JL(; —&«AA«\A-\\/V g —%,‘? et

\h RO S i'f

[ e m«, L. w»\ay“ 9
A—ﬁ\\f\ A V\.J_,\' W WY "

e This evaluation point again
seems to appear because it has
been learned rather than because
it has any bearing on the main
argument.

e The conclusion is weakened by
the slight change in wording from
the question asked.

Mark for AO1 = 6 out of 10
Mark for AO2 = 4 out of 6
Mark for AO3 = 6 out of 10

Total mark awarded =
16 out of 26

How the candidate could improve their answer

« This essay was fairly well focused on the question, but the candidate would have benefited from using the exact

words of the question to introduce key points.

+ The main arguments on both sides were reasonably well presented, but could have been developed further, with
more detail, supporting studies and discussion of a wider range of aspects of the debate — such as feminist or

postmodern perspectives.

* More mention could have been made of possible alternative functions, such as social cohesion.
« Evaluation should have focussed on the weighing up of the arguments and evidence for the statement in the

question.
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Example Candidate Responses — Paper 3

Example Candidate Response — low

”l\cwrqu J(o bowkc cmol MOorQ, . €chools are

__,Gapab\@dof 8o c*wl? _and__allocati ﬂJ -

| The  main_function of dne educakion (uclem
st alee ng(?orm role. ollocation of 1hQ 0
_| membors  of _godiety. this i¢ g Afunctionadist
| porspoghive_ udel &Qj R ) m_g,‘!_q!gﬂis?,tsc B
,_A___\bc\\u\( and Moore (1445

of md\\nducﬂ@ mior {u*ur@ role This s

“.“_m@mocmhc \JMen’rocm\ b@mq a e System

“:___‘of aquality  of oooormm% wh&rgdj mohwdualx

are vowarded  baed  on “orit r@qardlg.c:

100 4o sociad  chavacterigtics [ Ioacl@ Yound.

W(lmd‘ r@ward (éjgi@,m Worw fi‘hm‘uqv» dproceﬁ

Of @\Cﬂ m{j _orHNC (2 ’r 7 and
| examin on\c Sueh od ch\(d wcn‘r

{40 «chool. b aguired. ﬁood LOUREE,

_@ﬁ nto qood

ﬁﬂ)\d@d *ﬂ’lw‘”

| universities and. 1ak@ Bood_ Tources " SWhich
L wowld __ ultimately r@Ju\ﬁJ in__ them gotting

W.,_WLUO/\v?Qqu 'ltfy& / ochu}wg h&zh @f&‘\-{(

n_the GO‘C{O,N
Ny,

rTV\@/V@fOY@ U'\f’nj anol . @orﬂn of Lﬁudantﬁ
|_engure 'thcd( onld ‘(h@ mogt ﬁ;jnc

fionally  able

and infeltectually

| talented mdmducbhr ao vire, _the maogt -ﬁmc’no

-nodly_impartanty voles  in_ 1 he qocioh Lo while

‘reccup\\jﬂn@ othey_ jobs.

| Howavev,Mor:cmeamorﬁ _othor o C_'lo_lil\%'lSTS._,v

Examiner comments

0 The introduction shows that
the candidate has correctly read
the question and is going to apply
appropriate material.

e Davis and Moore’s theory is
outlined clearly with the use of
appropriate concepts.
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Example Candidate Responses — Paper 3

Example Candidate Response — low, continued Examiner comments

| diceredit thye clawm _of  mgridocracd . For ngrancel

,,“__’m@;ﬁécmo\o Ky \Bo\,\vd\@u 6 wWhT &ﬁ&k@d‘{ho\j OThe evaluation is focused
| “mordociact_ i a_muth . Moeaning thod ) here on the Marxist critique of
wehools  Crmply. have™ an & paqmncfci o trosde meritocracy.

1 an_Wudion of ~Rirmneds . end Juetice. and _award __ |
on . morit . Sether Whg\) are. not m@n’cocrcuho
,_,_ano\ :H.q% Ahose,  thod~ achieve V\jh Clakus
| nvougn  tho  education _ @uyctem ¢ actualic
due 0 other  cia)  fuctdly Queh as  matdrial
Lond__cotiad _Copitods. Mg Tnie coincides with
_00® ,Q,_f‘_,ffh,,@L,,,,,N\urx\\st' S ,@roposod Aunctions

‘ . o The evaluation includes the
. of @Qucﬂhon = L Himizin WS,‘,Q“ mo/urua,lm g, ° suggestion of an alternative function
| Mayxists QUQ/ i) whon  woarking of education; legitimising inequality.

| class  ctudents j@t Veuccood 0 hool , e it

| doeset  end h 4hom ach\va..“., higher

- tatus { WOrkin “3 class children  &day ot
bs

quw‘rlg{ Clagg e ‘_y\mmﬁ Ll ) h)miko,
_thoir Mmiddle ,cfo,&s . ,,__,,,cq_umgrpurt« ‘

V_W_M{ch_uggr amo orqu@& acangt +L+—=H~r@; ro\@,
| adlocoxion | qu q@%hﬂq Shad the, ma\n._,.funchon
ot _qthool€ 77 40 Geiolizadio 0 _people_into
| copitaligtic. ,\t..ql,_u,,u Hhrough  ideolosical
L_nddioning Thig can oo ,M,__c\on@,um num MouJ
ways_sudn 06 targuahthe hidden curriclium
L80uglas 1168 ;5 ‘edildven are towght _valuoed
| ¢uth as Punc‘rua}‘m, blind __oboderce. and

pm&‘uiﬁ'\l\‘ru iJmce»o\Of\) Ut ﬁrom Thoir _0xpetionce
__,‘m (fchoo\‘) A\J\hu\xffv@,r e e W 1‘0 _ _
are, them  for JWW/_ M CM futuro O/mP\ij)e eThIS paragraph discusses the

role of education in preparing an
VUhQ,. Wil do. Wwhatovor thoir @,mp\ou@rc tell obedient workforce. There is some

Yo 4o do . o gehools 4 O/OLCh ‘dQC\N thot confusion of the work of Althusser
promote oqp_\toi wm o, no*aMoccxhrNj _indviduade and Douglas with that of Bowles
) and Gintis.
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Example Candidate Response — low, continued Examiner comments

[xoto __apprepriate  rolos.

Fnally_, accoxding. fo _Boules and Gintie (3002),
‘ } «chools “we—de- are a

fo0l uged by the bourgoidies fo_ +e- progduce |

CUHUWG thoelt Y@producoirj €lage nequalitios.

4o fundioo of «eke odubation i

@/ thot  the  Quiing  &lites  vofoin. th o,[rd e This paragraph completes the
evaluation by pointing to the role of

PV\\}HQ_,. Q’d DO((‘(JHOHS \‘)n ThQ’ (QOCiO,Tu education in class reproduction but
,,,_Th\’OU_ h__thgic Chﬂd'f@ﬂ d uses a limited range of evidence on
d_o *fhl{____,_.__br - Invasfing @ io’( o\C the processes involved.
1. L nonoy qh«;’rw)urc& Jntotheir
| chitdeon’s \—\écadgmi@cs For axample
onrolling thom  Into  quolity  @hoole . Further
| proot & __how _at tnew. advhinced qualit
L«chools,thofe 1 an nvomubscnfo’n@n Kol
middlo._cloce  ehiidren , _Wwhite e+ vocational
.‘,JChOOM 010, filed__with_w.c_kide. Al {his 10
ol e woalny__remain  wealthy
WUJ\('NO, Th@ lesd pnv@lo,oe «tau  thod uu{}d

J \J Y,

L \n_conclugion ,  indood _ fheo  educakion  qustems |
..pimm an tmoormm roley  of placing dividuale

a’i ognoufo, _Gooigt rolos , Towover @
U

e The concluding paragraph
usefully links back to the question

"‘;s rr I6 FEAT
g ’fho)im QCULNO’G 10 conools _guch _ag¢ - | butis limited to a summary list of
| (dOﬂ oaical Qbf\d_ljtmnm o, legvimizing  clagr possible functions of education.

Mark for AO1 =4 out of 10
Mark for AO2 = 3 out of 6
Mark for AO3 = 6 out of 10

mwrxkﬂjjn u . and r&;ﬁroduc’m ﬂ clahj ‘m@é_c:}umjjf@,&,.

Total mark awarded =
13 out of 26
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How the candidate could improve their answer

For AO1, the knowledge and understanding demonstrated was accurate but lacked development in either depth or
breadth. There was much more to explore in terms of theoretical analysis of the function of role allocation and of
studies of how it might work and specific policies showing its implementation.

For AO2, the material used was relevant, largely accurate though not always clearly presented and lacking in
development. Candidates should take the opportunity to draw on a wider range of their sociological knowledge and
shown how they could apply it to the debate in the question.

For AO3, there was explicit evaluation of meritocracy, and some alternative functions of education are presented.
However, to reach Level 4 there needed to be more analysis of problems with the idea of appropriate role
allocation, drawing on more evidence of barriers to opportunity such as from feminist or interactionist perspectives,
or perhaps exploring alternative functions such as maintaining social cohesion.

Common mistakes and guidance for candidates

Often candidates struggle to link their detailed explanations back to the central point of whether the main function
of education is to allocate individuals to appropriate roles in society.

Some candidates spend their time on rather general accounts of functionalist views without specific application to
role allocation.

In their evaluation, some candidates just present a juxtaposition of opposing views or alternative functions without
explicit evaluation of the argument that the main function of education is appropriate role allocation.

It helps to explicitly refer to the words in the question when introducing material on both sides of the argument.
Candidates should aim to include a range of developed material on both sides of the argument.

The essay is an opportunity to show how it is possible to draw on a range of material from across the syllabus and
to apply it in a way that is explicitly relevant to the question asked.
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